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simple linear regression
(indicator variable)

e <120 mmHg, 120 — 129 mmHg, 130 — 139 mmHg, >=140 mmHg
. 120 mmHg



Log likelthood = -1822.8823

(mm | coeffic 95% ClI
Hg) iency
<120 mmHg 0
120 — 129 mmHg 0.29 0.02 0.56
130 — 139 mmHg 0.87 0.62 1.12
140 mmHg 1.43 1.17 1.69
cons -1.40 -1.62 -1.19




coefficiency

95 0 140 mmHg
120 mmHg
4
<120 mmHg, 120 — 129 mmHg, 130 — 139 mmHg, >=140
mmHg 0,1,2,3
1 0, 1, 2,

3



Log likelihood = -1824.4476

(mm coefficiency 95% ClI
H9)
0.51 0.43 0.59
cons -1.54 -1.70 -1.38




140 mmHg
(log likelihood
ratio O 0

X )



Log likelthood = -1851.7771

(mm Hg) coefficiency 95% CI
140 mmHg 0.96 0.79 1.14
cons -0.93 -1.02 -0.84







Log likelthood = -1686.8102

(mm Hg) coefficiency 95% ClI
0.07 0.06 0.08
<120 mmHg 0
120 — 129 mmHg 0.29 0.02 0.55
130 — 139 mmHg 0.67 0.40 0.93
140 mmHg 0.89 0.61 1.16
cons -5.22 -5.76 -4.68




Log likelithood = -1687.1579

(mm Hg) | coefficiency | 95% ClI
0.07 0.06 0.08
0.30 0.22 0.39
cons -5.20 -5.70 -4.70




Log likelihood = -1700.6877

(mm HQ) coefficiency 95% ClI
0.07 0.06 0.08
140 mmHg 0.48 0.29 0.67
cons -4.98 -5.48 -4.48




coefficiency (OR)

coefficiency =0.51 e%°1=1.66 = OR,
coefficiency = 0.30
e’30=1.34=0R
OR 1.25



140mmHg

cut-off
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